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1. (A) Gaurang Manufacturing Co. Ltd. operates integrated accounting system. The
following balances appear in the books as on 1% April, 2018 : 14
Particulars Debit (k) | Credit %)
Stores Control A/c. 50,000
Work-in-Progress Control A/c. 70,000
Finished Goods Control A/c. 60,000
Bank A/c. 80,000
Fixed Assets A/c. 2,00,000
Debtor A/c. 60,000
Creditors A/c. 45,000
Depreciation Provision A/c. 30,000
Profit & Loss Alc. 55,000
Share Capital A/c. 3,90,000
5,20,000 5,20,000

Transactions during the year ended 315 March 2019 were as follows :

4

Wages paid by cheque

Direct % 1,50,000

Indirect (Factory) 3 _ 25,000 1,75,000
Purchase of materials (credit) 2,00,000
Materials issued for production 2,25,000
Materials issued for factory maintenance 5,000
Factory overheads paid by cheque 1,00,000
Administration ovetheads paid by cheque 40,000
Selling & Distribution overheads paid by cheque 30,000
Factory overheads recovered 1,60,000
Depreeiationon factory assets 20,000
Income tax paid (by cheque) 40,000
Payment to creditors (by cheque) 2,25,000
Received from debtors (by cheque) 6,50,000
Goods finished during year (at cost) 5,00,000
Cost of goods sold 5,40,000
Sales (Credit) 7,00,000

You are required to prepare necessary Ledger Accounts in the Integrated ledger
and also prepare Trial Balances as at 31% March, 2019.
OR
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(i) From the following information of a factory prepare General Ledger

Adjustment Account under Non-Integral Accounting : 7
3

Opening Balance 60,000
Materials purchased on credit 1,50,000
Wages paid 60,000
Factory overhead paid 40,000
Materials returned to suppliers 10,000
Administrative overheads paid 30,000
Sales 2450,000
Profit transferred from costing Profit & Loss A/c. 50,000

(i1) State the advantages of Integrated Accounting. 7

(B) Select correct option for each of the following question.: (any four) 4

(1) In non-integrated accounting credit/purchase of material is credited to

(a) General Ledger Adjustment A/c.
(b) Creditor’s A/cs

(c) Stores Ledger Control A/c.

(d) Noneofthese

(2) In non-integratéd accounting abnormal wastage of materials is debited to

(a). Costing Profit & Loss A/c.
(b)  Factory Overheads A/c.
(¢) /Work-in-Progress A/c.

(d) None of these

(3) In non-integrated accounting under recovery of factory overheads is

(a) Debited to costing Profit & Loss A/c.
(b) Credited to costing Profit and Loss A/c.
(c) Debited to Work-in-Progress Control A/c.
(d) None of these

AC-130 10
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(4) In integrated accounting system depreciation on factory assets is debited to

(a) Factory Overheads A/c.
(b) Office Overheads A/c.
(c) Machinery A/c.

(d) None of these

(5) Innon-integrated accounting credit sales is debited to
(a) General Ledger Adjustment A/c.
(b) Debtors Alc.
(c) Bank Afc.
(d) None of these

(6) In integrated accounting system prepaid rent included-n factory overheads
is

(a) debited to Prepaid Rent A/c.

(b) debited to Factory Overheads A/c.
(c) debited to costing Profit & Loss A/c.
(d) None of these

2. (A) The annual inventory réquirement of a firm is 45,000 units. The ordering cost is
T 250 per order. Its carrying€ost per annum is < 2 per unit. 14

Suppose the ordéring quantity is.as follows :
(1) 45,000 units
(2) 22,500 units
(3) < 15,000 units
(4) 9,000 units
(5) 4,500 units
(6) 2,250 units
(7) 1,500 units
Determine the following on the basis of above information
(1)  Ordering cost
(2) Carrying cost
(3) Average inventory
(4) Economic ordering quantity
OR
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(i)  Considering the following information as well as using 80% learning curve,
calculate the average estimated cost per unit of 4 and 8§ machines. 7

(1) 600 labour hours are required for the production of first machine.
(2) Direct labour cost is ¥ 3 per hour.

(3) Direct material cost is ¥ 4,000 per machine.

(4) The fixed overhead cost is ¥ 5,000 for any size of an order

(5) The department is labour intensive

(i)  Give the difference between cost control and cost reduetions 7

(B) Select correct option for each of the following question : (any four) 4

(1) If the overheads absorbed are higher than actual overheads incurred, the
situation is called of overheads.

(a) Under absorption
(b)  Over absorption
(c) Allocation

(d) None of these

(2) In ABC analysis of inventory “A” class items require
(a) Moderate control
(b) Tightor strict control
(¢c) . Loose control

(d) '"None of these

2A0
(3) Inthe formula EOQ = C > “A” denotes for

(a) Average consumption
(b)  Annual sales
(c) Annual consumption

(d) Average sales

AC-130 12
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(4)  Which of the following causes of labour turnover rate is avoidable cause ?
(a) Personal progress
(b) Marriage
(c) Retirement

(d) Dissatisfaction with job

(5) Which of the following causes of labour turnover rate is unavoidable cause ?
(a) Personal progress
(b) Dissatisfaction with job
(c) Relations with supervisors

(d) None of these

(6) Cost reduction involves
(a) Reduction in Government tax
(b) Reduction in cost on permanent basis
(¢) Reduction in cost.temporary basis

(d) None of these

3. (A) Raghav Company Ltd¢manufactures two products ‘A’ and ‘B’. Both products are
produced with the help /of same machinery and similar process. The detailed

information.about beth‘are as follows : 14
Particulars A B
Units produced 10,000 50,000
Machine hours per unit 5 5
Direct labour hours per unit 7 7
No. of purchase orders 40 80
No. of set ups 50 150
Materials cost per unit (%) 25 25
Labour cost per unit () 21 21
AC-130 13 P.T.O.
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The cost of various activities are as follows :
4
Related to volume 3,00,000
Related to purchases 4,80,000
Related to setting-up 13,20,000
21,00,000

Prepare cost statement showing total cost and per unit cost under traditional
method and under Activity Based Cost (ABC) method.

OR
(i)  Explain the importance of activity based costing method. 7

(1)) Explain the difference between conventional method andractivity based
costing method. 7

(B) Select correct option for each of the following question i (any three) 3

(1) It is possible to ascertain most accurate and realistic product cost by
adopting

(a) Activity based costing
(b) Standard costing
(c) Activity based information
(d) None of these
(2) In activity based costing are cost centres
(a) Production departments
(b) Cost pools
(c) Service departments
(d)" None of these

(3) Which of the following activities is connected with the cost driver of no. of
workers ?

(a) Analysis of proposal
(b)  Setting up of machines
(¢) Recruitment

(d) None of these
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(4)  Which of the following activities is connected activity with the cost driver
of no. purchase order ?

(a) Analysis of proposal

(b) Issue of purchase order
(¢) Negotiation with suppliers
(d) All of the above

(5) The appropriate cost driver for repairs and maintenance overhead expenses
is

(a) No. of setups

(b) No. of customers
(c) No. of workers
(d) None of these

4. (A) Niyati manufacturing company produces 75000 units.at 50% production capacity

and earn an average profit of ¥ 5 by selling itat .25 per unit.

Its cost of sales is as follows : 14
3
Direct Material 8
Direct Labour 5
Factory Overheads 4 (60% Fixed)
Selling Overheads 3 (50% Variable)
During the current year, they intend to produce the same number but anticipates
that

(a) «Their fixed costs will go up by 20%.
(b) Rate of direct labour will increase by 20%.

(¢) | Direct material price will increase by 25%.

(d) . Selling price cannot be increased.

Under these circumstances they obtain an order for a further 20% of their
capacity what minimum price will you recommend for accepting the order to
ensure the manufacturer an overall profit of ¥ 1,78,500.

Assume that the fixed cost is recovered from the current production.
OR
(i)  Explain the factors affecting pricing policies.

(1)) Explain the advantages of full cost pricing.
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(B) Select correct option for each of the following question : (any three) 3
(1)  Which of the following factor is internal factor, affecting pricing policies ?
(a) Demand and supply
(b) Competitor’s price
(¢) Goal of the company
(d) None of these

(2) Variable cost pricing is also known as
(a)  Full cost pricing
(b) Direct cost pricing
(c) Marginal cost pricing

(d) None of these

(3) Which of the following is external factor, affécting pricing policies ?
(a)  Quality of the product
(b) Cost of product
(c) Competitor’s price

(d) None of these

(4) Conversion costdncludes
(a) Selling.overheads
(b) Administrative overheads
(c) Direct wages'and production overheads

(d) None of these

(6) (Contribution=
(a) Sales~ Variable expenses
(b)  Sales x Profit volume ratio
(c) (a)and (b) both
(d) None of the above
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